Mathematical Concepts — Exam 1
MAT 117, Spring 2013 — D. Ivansi¢
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2. (6pts) You took out a loan with simple interest of 5% and repaid it with $1253.18 after

seven months. How much did vou borrow?

(J_f.rr

!’.:-ts,*; 8~ P(1+0.057)

J?S’?,lzf’f P. | 07251

‘WH'-’

1217.¢¢

ul
2

3. (10pts) A jacket was initially sold for $190. but it sold poorly, so the price was reduced
25%. After a while. sales picked up, so the store felt confident enough to raise the price 10%.

What is the current price of the jacket?
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4. (Tpts) Carv deposited $4500 in an account with

much is in the aceount in three yvears?
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compounded daily. How




5. (ldpts) In 2012, single mom Angela, who has one child. filed income taxes. Her total
income was $73.000, she deposited $4,000 into a retirement account, paid $5.400 in mortgage
interest, $1.200 in property taxes, 33.300 in state income taxes and donated $800 to charity.
Use the table below to first determine Angela’s taxable income (don't forget the exemptions)

and then find the tax on this income. ,:I
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6. (ldpts) You would like to start a small lunch-serving business, so vou save up to buy a
food trailer, which costs $9,000.

a) How much should you deposit every month into an account with 3.75% interest, com-
pounded monthly, in order to have 39,000 in three years?

b} How much of the final amount is from deposits and how much from interest?
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Duchess of Cambridge (aka Kate Middleton) is pregnant! Made-
more [amily-oriented

7. (32pts) True story: the
up part: since the family is expanding, the young royals will need a

ride. They decide to purchase a lnxury SUV costing $86.500 and finance the purchase with
a 10-year loan at interest rate 4.35%. compounded monthly. ;

a) What is their montly payment on the loan?
b) What are their total payments over the course of the loan? How much of this amount 1s

7

for interest?
¢) How much of her first payment goes toward interest. and how much towards the prineipal

d) How much do they owe alter 6 vears?
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8. (12pts) An investment you are considering is expected to grow at rate 15% annually
(compounded annually) for the foreseeable future. How long will it take until your investment

gquadruples?
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Bonus. (10pts) To save for a car. Fulgencio initially deposited $3.000 into an account that
gives 3.4% interest. compounded quarterly, Then, for the next three years, he deposited
51,000 every quarter into the same account.

a) How much is in the account after three years?

b) How much of the mununt from a) i 15 fmm dept}SlLS and how much from interest?
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